RIEARECFEE 2 — HIRHABRRE —

BH AT LA LTER 1 EAL TRk 1 8 %M — 2007.1.31 —

Mo! 1. 1751 A OBEEER A\ = L, = -1, BEXZ badda; =[1,-1)T, 2, = [0,1]T THB L&, AF %
KD X,

2. FBATOEROMN1ERDIxIITHEEEZTL, \=103EFETHDZLETYE, £, £0H
A7 MvERD X,
X2

3. 2RTRZ b x(n) = [z1(n), zo(n)]T BERRUZ L Y EHFIN 3,

z(n+ 1) = Az(n), A= [ _11 0(.)5 } z(0) = [ _11 }
6 o3 (a) 2(2) RD X,
(b)n s 00 & LTcl &, o(n)idE 5250

(0] & HACBEERN =10 =20 =3 THDHLE,

by @ AOHFRERDL
(b) ADFL—X GHAEROM) 2RD L,
(B%) BABLFIRRE N L—2OBRERDSLEERL, 5O EAEORIEL /A
LCRAT 3,

5.1751 A & BRRCEHE Y b zfh, BENY b &SI~ A ETEITHIS LT, A =
SAIS7!, B=SA,S7' LRENDBLE, AB=BALRDHILETEHAY L, Fiz, RO A KT

5 BOHERDE, L, BOBFEITEYNIIEX5LDET B, 5
5X2 A:[l 0]
2 -1
15

Po) 6. wommrmsamy.| 21, coByFEROREEETH DD, FEETHEIFE.

17—'
%%9=[jlg]um, mm=[;], g§9={8]

[]r LT OME &R X,
(a) A=A Chiu, EEOERNY Moz iz LT o Az IIER LR 5,
5X2 (b) A=Af 2@EETROLTOEAERERTHS,

[0l 8. #R~y brva=[1+i1-47 &y=[LiTicoVT
N (a) FxDRE (Vb)) 2ROL (VEEOETLIW),
VX2 (b)) oiyommERDL,

9. %7 ta=[L2T IR AZENT B ZLITEY, aD e, = (1,07 FRORS (*) % 245, = =[0,1]T
HEDRRS (*) -1 L1, A%2RD L, BE) (N idardb o Rz L~OHERIHEYT S,
(BEv b A7 MAER)



Tt & F R 4% R

Vs
MW RTE P — gHE sk
— BB -
Low, % e PR B3 A0 e S, 2, % & }WHRE ¢ 73 433
T A 33 ARRA T HE3h3.
A =3 A g
i/

Ak=(3A s WsAs™) - (3A )
= gAkg!

4 -
£ 1] &[0

L1
h, 1
A_-[Og;‘z}

l

1 °

-
l

4|
L i wa> 1%

1 -
A=y 1] ¢33,
-1 1

-2 1 -~

Ve | =) =2 + (14a)-2(1-2
-1 1 1=A

=0 --(1)
(D)

—1z§?tﬂ3b> =1 BHELE e 53 /
EE A %w//RﬁZQTQ*M%

=t =1 6 1 =t 0
U= 1 W | = -2 T | = (06
e I oY N A R BN P
“n§Y,

Ay — Ay =0

dor (A-2L) =

/

“7(( + Ay =0



3.

Z\Mfc%)%w?
Ay = Ay = 7(“7
$1E%. @bz (BEBRZS® 2) 20 300 133,
[’
w=|1 |
Vo 7

AR R E 51Tk,

n
Xy = A (o)
Ao BEEc @At find A3 B9 B0 5
?\[ =1, AL =05

-1 > [H . ]L,'(jfl‘\ [»« is&@]:m '%ﬁjz

—1 05-1
(~6,5 O 4o ][5 offual _fo]
= . !:4 = ‘ \r(/( :O
2 =0.5 > [_1 O,S-O,S}L‘Lj L O]Kﬂl L* fv‘l =
Lo- YA
A=g AT [ ‘
T1 o -t o A= Lo
SE_LJ‘)(B '[9—1]) LOOSJ

'7 0 1 0
A" - | [1e71 o ( -
$~A—$ Y I‘;f’ 6 05" [2 { 2+2-05" 05"

]
L 447

(a) Y\:zoﬁ%é
ych\lm) :[13 tjﬂ}:
S O

b) N0t b
bes 05" 50

-3 lo
B 5
W) :A“v((o>:[1 O}“] -/
-2 0 || |—2 y



4,

5.

(@) FA3 RN =E%EE = Aads = 1x2x2=b,
) f-R=BREok = 2/t 2+ 232 1+21t3= ¢,

AB =3 AN ASTT) = A AL g
=3 A2 /A5 =(2 AL N2 D) = RBA
Ay e Ay 3 T BT 2 205 TRERE

O P3
A:[;-J @7@““7“%1“2&)% 3B/ 5355
=1, 2,=-1

[ rz LOJB‘] lrzo -ﬂm‘] ﬁ] foEvs
Sﬁvs Eh] [2 6 WJX[z‘Mi;zi
Ro@BE @Y = 522, #an, A=1, 2,22
o, ?]%"M A-[hs]
o=sas-[1 01T 2],

(?%‘G& r r—
AR [10710 1o

5]
BA =] ”O—'- >%

L2~1J

7\7_:_.1

b. 13825789 B4R, BT L & fond.

2BL3%] 2 205
7\[ =1 , /)(\7_ =2

L 1 % ol o e -

[ u? (—\ offu2_To] ‘§UL:O
-1 0 }L\YL_{' o1 U, =1

-

35



4/5
AR BRI ORA 2 BN g,

~Jit -Gt g
U) = (Cl + dy € >J“z + (cze +dze )L\ - - (1)

58

xR % o e .
W“‘*(C’\*OW\\JV(CZM ﬂﬂ:'{'o] )
d U

ToE ltes Jr (¢ -417[1} +J2(c2 “d'z){?l :KFJ -3

B

K ey =4y, G=dy

E\\(27 &Y C\'—‘-OM = 1/2 ) (o :0&2 :—1/2
“hoE R XSS,

PR NN R R AR
MH:EQ + € )[11——2—<p )1_11//
(@) YAY B rhI- B In, BEZH s e Rt AE YL
(wHA)H = pHAT () = A
—H FENIZ, ?E% ﬁﬂ'b ‘ID@ﬁ’él g(_ hon7 VHA\’D( &¥%x7 43 /
AX = 2% o o Zrs x ¢ 3B

HAX = 2wty =20 xi*

W EY), .

WAL
A= (e'elln

TR LY, G5B F PR H3Y s AT EE S/

|
|
o4

(b)

(y('r-i-k(—i—[ Z :JZ:Z
\]_—:’lu =12

(b) gy = (- +(1+i)r = -t +a-1 =0
YWHIe = QT +(1=2)F) = A+ =K =1 =0



9.

5/5

T =2 1=1x ’D(v =0 2"H3hs, W, Wiz ERE %i%

B3 W, Wy E Ao BBAN2RL S L

Al = 2% R + 2,250 —-- (1)

v 5%, 552,

G W
X% g
2'%255 AR T Ak R5 A7 K kg IR 23
) 0 BDL I A5S W, ¥ Lo BIRSE A 48, 2B L2013
-~y ABY 53, %ﬁ% FY Ay =2, gl ¢HIIedED,
LAER), Ay B&E» Ay =2, 2,=-1, BB 7, T
raw R SR ICH AR B3

A=3AS :[ ][0_1;” ]:[zoﬂ//

szjdl: r=12

4



	無題



